
AM22 7AB hodina 4 2024   0) Projdeme úkoly WB 8 -9  (vocabulary – sleigh, weigh..), vč. samostatného 
psaní.  Projdeme 10 – 11 – unit 2 vocabulary
1) Zopakujeme Unit 2 SB 18 19 a projdeme SB 20, poslechneme prezentace

2) SB 21 – 1st Conditional                     maybe: the volcano 1st conditional game

If I get a telescope, I will watch the stars at night.

Pokud dostanu teleskop, budu se v noci dívat na hvězdy.

Po spojce IF zde nepoužíváme WILL, i když to znamená budoucí čas!

3)  (pokud se pořádně zabereme do kondicionálu, možná odložíme) SB22 – listening

4) HW WB  12 13  - Ganymede, Jupiter’s Giant Moon, WB 14 15 – 1st conditional

- - - 
vocabulary revision:

How much does your horse W _ _ _ H?  = What’s its W _ _ _ _ T? 

My great-grandpa used to ride a S _ _ _ _ H pulled by four horses. 

Santa must hold on to the R _ _ _ S.

A bride can wear a V _ _ L at her wedding.

A F _ _ _ _ _ T train carries things, not people. 
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